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QUESTION 1

When DNS_REV is used as the probe protocol by the GTM System, which information is expected in the response from
the probe?

A. a reverse name lookup of the GTM System

B. the list of root servers known by the local DNS

C. the FQDN of the local DNS being probed for metric information

D. the revision number of BIND running on the requesting DNS server

Correct Answer: C

QUESTION 2

Administrators can specify an APM access profile when defining a virtual server in LTM.
A. True

B. False

Correct Answer: A

QUESTION 3

Which three of the following must be done in order for GTM to properly communicate LTM? (Choose three.)
A. Connect the GTM and LTM with a network crossover cable.

B. Synchronize the big3d versions between GTM and LTM.

C. Add the LTM object to the GTM configuration.

D. Configure the GTM and LTM to we MAC masquerading.

E. Ensure that GTM and LTM use the same floating IP address.

F. Exchange SSL certificates between the two devices.

Correct Answer: BCF

Integrating LTM systems with GTM systems on a network Running the bigip_add utility

Determine the self IP addresses of the BIG-IP LTM systems that you want to communicate with BIG-IP GTM.

Run the bigip_add utility on BIG-IP GTM. This utility exchanges SSL certificates so that each system isauthorized to
communicate with the other. When the LTM and GTM systems use the same version of the big3d agent, you run the
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bigip_add utility toauthorize communications between the systems. http://support.f5.com/kb/en-us/products/big-
ip_gtm/manuals/product/gtm- implementations11-3-0/7.html

Note:

The BIG-IP GTM and BIG-IP LTM systems must have TCP port 4353 open through the firewall between the systems.
The BIG-IP systems connect and communicate through this port.

QUESTION 4

Which four of these benefits does APM provide? (Choose four.)

A. Enables remote access by several thousand simultaneous users.
B. Basic Web application firewall capabilities.

C. User authentication based on identity.

D. Acceleration of Web content to the client.

E. Granular authorization to resources.

F. Client workstation security checking.

Correct Answer: ACEF

QUESTION 5

Customers can purchase LTM as a stand-alone product, or layer it with additional software modules to increase the
functionality of the BIG-IP device.

A. True
B. False

Correct Answer: A
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